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B PLANNING AND B ARCH

Mathematics

If A={1, 2, 3, 4}, then the number of
functions on the set A, which are not

one - one, is :

1. 232
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3. 248

4, 2%

AEA ={1,2,3,4} &, T =T A R Fer
I G E%EHT:TE-T, % -

1. 232
2. 240
3. 248
4. 256

sd A={1,2, 3,4} ¢4, dl 2i5-25 4 &4l
el A Yl [Eaaidl v sedl )

1. 232

2. 240
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The sum of the values of x satisfying the
equation, -.,u"ﬂ\fr; 4} 3 \E 21+6=0

(x=0),is:

1. 26

3 10

4, 8

uﬁm'ﬁ{ﬂ 4)-3 |\x—2/+6=0
(x=0) T T FH Tl x F AT FH ATEA

3.
1. 2
2, >
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wellsRet 7 (Vx —4)-3 Wx —2/+6=0 (x>0)
A taA S2cll v Al Bl Al e
214,

1. 26

3. 10

If m be the least wvalue of
lz—3+i4/2+|z2—5-i2]2, zeC attained at
z =z, then the ordered pair ( 2y, m) is equal

to:

1. (13, 10)

2!{@,2{]]
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1. (13, 20)

A 2=z, W |z—3+i42+|z-5-i22 zeC
F1 I g FATH WA m T, o HEd g
(12ol, m) =L E :

1. (V13,10

5 (17, 20)
3 (\17,10)
4 (V13, 20)
o z=z, AN |z-3+i42+[z-5-i2%

zeT et Bud maReL 53 €, dl s9sd

sdS (| zol m) = i

1. (13, 10)

2 (17, 20)
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4 (13, 20)

*

[f for some ¢ < 0, the quadratic equation,
2cx?—2(2¢—1)x +3c?=0 has two distinct

real rools, ; and —, then the value of the

b
1+ a 1 1
determinant, 1 1+ b 1 is:
1 1 1+ ¢

1. 2

afg f&Hdl ¢ < 0 & fou fg=ma gHEIm
2cx2—-2(2c— D+ 3c2=0 F = fom amafa=

1 3
LG €, @ =rfus
Hida 1 1
1 1+b 1 |®=HAE:
1 1 1+c
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2. 0

4
3. 3
4, 1

s 51895 ¢ < 0 W2 leaa wdlsael
2e02-2(2c-1)a+3c2=0 A o [tz oilsd

1 1 =

— A = &lA, dl [z14s
a b
1+ a 1 1
1 1+b 1 |dlBuad=
1 1 1+ ¢
1. 2
2 0
4
3.3
4 1
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Let A= ;x,yeR.
Ly

| 10
1f AAT = |:[ ] (@ e R), then a4 yz is

) o

equal to :

9. V2 -1

. 7
AT Az[xl ‘y]:x,yek g1 afg
L4

' 1 0 .

AAT = |i['l ] (e R) %, G yza"lT'ﬂT;T
x

T

1. 1

2, VZ-1

3. 2
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x 2 #
Ylzls A= x,yekR &l
1 ¥
% 0 )
AA" = (a e R) Gy, dl
0 o

Let 5" denote the sum of the first n terms of
an AP, ay a, ay, .., a,. If as +ag= 1 and
ngf:r then which one of the following is

not true ?

IR
13 B

1.

2 a)3=0
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HALS,, qHia 4 8y 8y 8y e ,a"i?ﬁ g9y
n T&i % I0T 1 <90 2| g ac +ag=1741
Sy=6 %,  f1= § ¥ FF W UF 7T T 87

13
£ e
. ™8

2_ a)3=10

QRls S = MUk Hell (A.P)a, ayay .. a,
Al Wdel n YELAL MUl U B, sd ag +ag=1
A Sy =6 €1, ol Al2ioll s w4l

; 13
i e S
1' 13 2
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B

3. 2
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; + 3 3
If S [r JQC, = :‘.‘;‘(E] t B, then

=1 2r

is equal to :

L[r } 75] 9%, :“(%fl A

r=1

HHAE :
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9 9
4 F 3 3 =, =
U;l 2 [r ] (}{—_-r — ['E( E] 1 I-Ji Ell{, dl

Let a function, f: (—1, 3) — R be defined
as f(x)=min{x[x], |x[x] 2|+ 2}, where [x]

denotes the greatest integer<x. Then fis :

neither continuous nor differentiable

1 at exactly 3 points.

www.FirstRanker.com
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neither continuous nor differentiable

g at exactly two points.

not continuous at only one point and

4 not differentiable at three points.

AT U oM f:(~1,3) — R,
f(x) = min{xfx], |x[x] - 2| +2} R TfIE E,
Hﬁ[x],qﬁqﬂﬂﬁ'gxﬁm%ﬁf:

A 4 fegadi w9 o Had € AR A @
1. oA 2

21 feigeli W Haa @ € aun o fage
2 W sEEEE T €

o < fagdli WA A Haa & SR A &
3. FEEHeHE g

Fael U Tag W Had e g a9 1
4. Tgel W sEwera 76 2
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f(x}zmin{x[:f], x[x] -2 +2) gil cqlb/l\ﬂﬁw.FirstRanker.com
€14, sl [x] 2 Herd el yells < xsls, ol f
W

oRlor 3 [Lig2ll 210 Hdd el -2l 5
1. Esadl e 42l

o [egAl 2t ddd El =14 3 (G5l
2 2w [sad el

oo o (g2l 2o udd el 2l 5
3 Esadl w2l

ssel s [ 2000 Hdd 2l 2 A
4 (g2l 2o (sl il

liIﬂ {lﬂﬂe [ DI{I" ]} DI{I --I} ) ’

x—1

.lr.:nge (4x(x—1) ]} isequal to:

1.1
g —2log,2

www.FirstRanker.com

www.FirstRanker.com



:’ :%flzirstRanker.cnm

rstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

lim {lﬂﬂe :Dxix 1) X1 x}}

x—1

-IDBE (4x(x—1))} =R e

2 ngﬁ £
3 ZngE
4 1-leg, 2

lim {lngeqcxix 1) _ex(1-7))

r—1

log.e (4x(x~1))}=

1. 1
2 lngez
g~ 2log,2
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The function f(x)=e**1! (4x2—16x +11)

. : ( 1] (5 ]
IIEIEEISII"IBII'I oo, E L) EI::::

i_n:reasingin.[— oo, —2) U (2, =)

oo (-o-3) v (3~)
decreasingin| — =, 5 L2 Jip0a

o o B
decreasing in - EEHIN bl
2 7.

e f(x)=e*t ! (4x® - 16x+11) :

| (B g weem

(=, —2) U (2, o) H aEFA B

; ( - ﬂu(%,x]ﬁmél

7
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(B84 f(x) =e*+ 1 (422162 +11) =L :

1.

() o3 )

x, =2) U (2, ) W 48 8.

The area (in sq. units) of the region

{{Ly}

1.

:Ezyasmx,{]axa F]ﬁm:

™
3

w4
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Vil 6
= 1 . 5 3 =
213 {[x,y]:g < yo<ging, Q0 <y < T.*}

& UAFA (T sHEEi H) T

Jg=
1 3
L (L
2. 3
, 2
3. 3
B = =
4 6
neel {{l'flf] 115 <y <sinx, 0 £ x < —.r]»
A & (AL Pswul) 8.
43 =
1. 3
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If x = x(y) is the solution of the differential
equation, ydx— (x+2y?)dy=0, with
x(—m)=m2 then x is equal to :

1. ¥ -

2. T I
3~y -2y
i, Yty

afs  x=x(y), AIFHA HHTH L
ydx — (x4 2yA)dy =0, x(— 7)==, F TAE,
T‘ﬁx‘ﬂﬁﬂ%:

1. 2w
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3, Y-y

4, Ay

sl x=x(y) «  [asa wdlsw
ydx — (x +2y)dy=0 -l G5 iy, sl
x(—m) =72 dl x=

1. -

2 27+ 3wy
q ¥ -2y
4. Ty

A ray of light is projected from the origin
at angle of 607 with the positive direction
of x-axis towards the line, y =2, which gets
reflected from the point (o, 2). Then the
distance of the reflected ray of light from
the point (2, 2) is :

www.FirstRanker.com
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| 1
2 2(1 E}
7 3-3

' 1
4. B

T 1 U T, e fag 9 x-AY F1 ¥ S
ferem § 607 % =101 9 @1 y=2 Fl AR FHTId
F1 A6l 2, 9 % 6g (o, 2) T WEfdd & =
21 @ feig (2, 2) | wEfda 9w it fwo
qﬁiﬂﬁﬂ%
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saeldl 20 8, o (645 (o, 2) w2l wueldd ay

6. ol usi2iAl 21 weldd (s g (2, 2) @l

Rt L.

1. 3 -1

2 2
1 . i

Let the ellipse, — b_z =1, a > b, pass
a2

through the point (2, 3) and have

1
eccentricity equal to E Then equation of

the normal to this ellipse at (2, 3) is :

1 2y—x=4
2' 2x—y=1

3 x—-y=3

www.FirstRanker.com
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2

2
(& 1 -
A e i—z =1,a>b,fg(2 3)

@ﬁmw%wwﬁsﬁaﬂl%%ﬁ‘l(z:ﬂ

R g & AT H HHE
1 2y—x=4
2 2x—y=1
3 dx—-y=3
4 3x—-2y=0
o x? yz :
Qs Guagd — + =5 =1, a>b 2 [4g
a b

(2, 3) izl Wz w4 B #A ddl Gobegetl % .

dl (2, 3) 201 24 Guaas-L 2i(Gdo 23{ls2L
2.

1 2y—x=4

www.FirstRanker.com
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3 Ix—y=3

4 3x—2y=0

If a variable plane in 3-dimensional space
moves in such a way that the sum of the
reciprocals of its intercepts on the x and
y-axes exceeds the reciprocal of its intercept
on the z-axis by 2, then all such planes will
pass through the point :

www.FirstRanker.com
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y-mmaam:@a%?agﬁmmamﬁa
59 - AH WA 3.4 E o Fgohd 9 2 AfF
2, 1 T wd e o feig 9 g i, 98

od Bruleaell wiesieml »is uldd wdd 21 <ld

WA B 5 o/l x 2t -2l YA L @i vl

cofiectedll MRAUOL B z-2AH YL el 2 vl

<t 53l 2 /2l 4 I, ol 2L £25 UHAdl
(igaizll vz 22l

bd | =
B3 | =
R
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If the volume of a parallelopiped whose

EE M A

coterminous edges are a= 1 + j + 2k,

— i A

. ; M —» A Ly A,
b=27¢ +Aj+k and c=27 +2j + Ak
is 35 cum, then a wvalue of

— —— o
ab + b-c c-a 1s:

1. 2
9 14

3. 10

I TF I TEHAS fa9E FeraErl

a — M A
(coterminous) TFIR a=1i + j + 2k,

3 M 5 A -—} M 5 AN
b=2i +Aj + k AU c=2i +2j + Ak

. OF1 A¥ad 35 cum €, dl

www.FirstRanker.com
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Al

5 14

3. 10

4. 2

& G G s arTE A A M
syl 2Asoflod At A2l a= i + j + 2k,

M A

= A0 A R S ~
b=2i +Mj +k w4 c=2i +2j + Mk
Sl clell HHiR sas aetsn 35 ud WL &, ol

— =3 — =

— = :
a-b + b-c c-a Al Euya
2.

1. 2

www.FirstRanker.com



A ' Eirdbaendrischoice

2’ @ww.FirstRanker.com www.FirstRanker.com

:I > FirstRankerE.cp )

then 27 cosec®« + 8 seca is equal to :

.. =

9 270

4. 240

Ife 10 sinta+ 15 costa=6, ae ( g, g]

%, a1 27 cosecPa + 8 sec®a T % -

1. 20
2 270
3. 250
4, 20

sd 10 sinta +15 costa=6, ae ( '%r %]

by

¢, dl 27 cosecba + 8 secba=______\www.FirstRanker.com
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2. 270

A bag contains 6 red balls and 10 green
balls. 3 balls are drawn from it one by one
randomly without replacement. If the 3rd
drawn ball is red, then the probability that

the first two drawn balls are green is :

1. 37
2, 3/8
3 9/56

4. 9/49

www.FirstRanker.com
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ﬁmﬁwﬁ%wﬁﬁm@ﬁmﬁﬁﬁw
A | 2 (e e e e ) o el B
m%:

1. 3/7
2. 38
3. 9/56

4. 9/49

w5 Sl 6 | £50 2l 10 dlal 261 5. cmizdl

3 £5LHE R8s dld 218 wssl 215 yeaelRled deuui

el 8. ot Al 2uad st 251 A €, dl

Yl el 2udd o gol dldl ¢ adl HeusHt
2.

1. 3/7
7 3/8

3 9/56

www.FirstRanker.com
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Let the data4, 10, x, y, 27 be in the increasing,
order. If the median of the data is 18 and
its mean deviation about mean is 7.6, then
the mean of this data is :

1. 155

S

3 16.5

4. 17

HMT SAHE 4, 10, x, y, 27 920 HH A &1 9T
HAlF2 F 1 18 T a1 571 J= F G
e fager 7.6 2, ° 59 SATHel &1 9 2

1 155
2. 16
3. 16.5
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aals Hlgdl 4, 10, x, v, 27 24 Ul 5441 S, ad

HUledlal W 18 €U i de, WeasHl Ui

weual [Bad 7.6 ¢, dl 2u aldda weus
8.

1 15.5

2 16

3 16.5

Which of the following is not equivalent to
N o
1. ~Pv~9

g, “wHg

7 ~(q—=p)

www.FirstRanker.com
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A FAFA A ~p A q FTA T 8?7

1. ~(pv~9
2, B
29 ~(@—p)
4. ~pA(~p—9)

ARzl £ ~p A q A s —El)

1. ~(Pv~9q)
7 “P7~q
3 ~@—p)
4. ~PAP—=Q)

www.FirstRanker.com
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If the total number of ways in which
8-digit numbers can be formed by using all
the digits 0, 1, 2, 3, 4, 5, 7, 9 such that no
two even digits appear together is (5!)k,
thenkisequalto

100 to 100

Question Number : 21 Question Type: SA
Correct Marks: 4 Wrong Marks: O
7fg |t &+ 0,1,2,3,4,5,7,9 F T4 4,

P g

8- arel! UHT WA, faad e off 2 mgeis
TF TG T AN, 9910 A T & FA Tl
HEm 5k g MKFMAAE |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

100 to 100

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

od SHellsy 251 0,1,2,3,4,5,7,9 -l Guzla 57
A, 5IUBL G Y isl iy WL A 2ud d dd
8-isll v erttgarl 2l (50k €M, dl
k=

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
100 to 100

Question Number : 22 Question Type: SA

www.FirstRanker.com

CorrectMarks 4~ WrongmMarks: 0
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g{x}=1‘2 bx—2 (x ¢ R) and b is a real
constant. If gofis continuous atx= —1, then

b is equal to

5to5

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

T f() x—3 , A x<-1
X)) = r

' 3x+ 4, T x=-1
g(x)=x2—bx—2, (xe R) 741 b TF ardias®
T E| AR gof, x= — 1 R HTA &, T b T

# |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

5t05

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

i jx ¢, T
qRls f(x) =
> |3x + 4,

r<—1
r

od
M x= -1
gr)=22-bxr—2, (x ¢ R) 21 b 21 qidlds
AN O, ol gof B x= — 1242101 Heid €1
dib= 21,

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

5t05

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

If .Je?‘x (cosx + 7 sinx) dx = e**g(x) + ¢,

where ¢ is a constant of integration, then

www.FirstRanker.com
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2to 2

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

B4
.jc‘j‘x (cosx + 7 sinx) dx = el"'g{x} F e,

)

&l ¢ UF FHHA A T, A g(0) [

Nl—i

ELETa :

et i

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2to2

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

2
.je‘h (cosx + 7 sinx) dx = ehg{xj it

sedl ¢ B sertll 2ais G dl g(0) + g

R

S

e, -
I

108

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2to2

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

If the line joining the points (—1, 2, 5) and
(3, 4, —10) intersects the xy-plane at the

1
point (x, y, z), then i is equal to

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range
Possible-Ahswers-

www.FirstRanker.com
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g fagsti (—1,2,5)T40(3, 4, — 10) =l foem
AT T xy-Tae 1 o5 (x, y, z) T HEAT T,

8to8

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

[Cig2tl (—1,2,5) 21 (3, 4, —10) A sasell 2wl
v

X

xy-HHdad (65 (x, v, 2) 4 oedl € dl

M.

LS

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

8to8

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Leta,be Randa > 0. If the tangent at the
point (2, 2) to the circle x> + > =8 touches
the parabola y¥*=4a(x —b), then b—a is
equal to __

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
4t04

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

AMla, be RTAMa>0F| Afg I 22 +12=8

* fag (2, 2) W Eidl TS WEE], WAy

y2=4a(x—b) FI T FAE, Mb—a TR T
|

Response Type: Numeric

www.FirstRanker.com

Evaluation-Reguired Eor-SA—Yes
Show Word Count: Yes

_ www.FirstRanker.com
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Question Number : 25 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

4Rls a, be R »a >0, sd ddiix?+ 12 =8l
(% (2, 2) 2wl 2uels, Wwaad y2=4a(x — b)
A@ldib-a= Y1,

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

4104
Aptitude Test
Section Id : 40503639
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 50
Number of Questionsto be attempted: 50
Section Marks: 200

Sub-Section Number: 1
Sub-Section 1d: 40503653
Question Shuffling Allowed : Yes

Question Number : 26 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1

Which one of the answer figures is the correct mirror image of the problem figure with respect
toX -X?
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Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?
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Which one of the answer figures is the correct mirror image of the problem figure with respect
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Which one of the answer figures is the correct mirror image of the problem figure with respect
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The problem figure shows the top view of an object. Identify the correct elevation fromamongst

the answer figures looking in the direction of the arrow.
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The problem figure shows the top view of anobject. Identify the correct elevation from amongst
the answer ligures looking in the direction of the arrow.
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The problem figure shows the top view of an object. Identify the correct elevation from amongst
the answer figures looking in the direction of the arrow.
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The problem figure shows the top view of an object. Identify the correct elevation fromamongst
the answer figures looking in the direction of the arrow.
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The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer [igures.
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The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view when the figure is
opened up, from amongst the answer figures.
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The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Buckingham Palace is the Residence of

which one of the following ?

1 Queen of England

2 King of Netherlands

3 King of Prussia

4 King of Nepal

=T e Tt ad o U T ar e
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3. gferEn =1 =

A, 9T O

oiffor ued AliAnial siq [Raad 97

1 Hoesel 2100l
2 AHIESAL 2Usd

3 YL 2o

4 AUSAL 2sd

In the Northern Hemisphere the winter sun
rises from which one of the following
directions ?
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2 North West
3 South East

4 South West

Tl ey § Afesl | g e femedi 5 9
forg U fean 9§ ST 22
1. W

2 I IfTEH
3, g

4, e afyeEm

Gzl otends Eruvudl Yo A&l 59
(E2uiell GLL 7

1. G
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4 glarel y=m

Which one of the following is a purpose for
installing false ceilings ?

1 Supporting the walls
2 Making the building water proof

Making the space acoustically
3 effective

4' Making the building fire proof

Frefafad § @ #6192t 39 wfad F9 F
fou = 3evE 77

1. SR W

2 THRA & Terdg S
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1 [Eencln 251 12

2 SHRAl ORI (U2Ys) il
3. ol el USRS AL

4 JHRdA PPRIES (5147Y5) ool

What amongst the following is the
thickness of a two brick wall ?

1 18"

3 -16.“’
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Where from among the following is the
famous St. Peters located ?

1 Denmark
2 Norway
3 Rome

4. Venice

Trefafaa o 4 wfgg d2 ded wa fom 27
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57
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3 2

4, 4

In which State in India are the large Tea
Gardens located ?

1 Punjab
2 Uttar Pradesh

3 ) Kerala

4 Odisha

AA % $F § 19 § 92 =9/ 91 g 82
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1. Yol

2 R

3 &

4. w531

Where from the following is the National
Gallery of Modern Art located ?

1 Bangalore

2 ) Lucknow
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4 Mysore
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4. &

*

Which one of the following is a secondary
color ?

1 Green

7 Red

3 Yellow

4. Blue
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1. dd

G

4. vl

Which one of the following is considered
to be a calming color ?

1. Red
2 Orange
3 Green

4 Blue
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1 Coarse

2 ' Glossy

3 ) Smooth

4 Shiny

AR F F9Ee 9l Bl 2 2

1, =

3. faF

4, T

At Uy (sand paper) jé&-‘ﬁl& (texture) 2}
57

1. RS
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What is the purpose of a chimney in a
building ?
1 . To give strength to a building

2 . To hold the building up

To take out the smoke from a fire

3 place

4 To make the building water proof

U THRA § o9 1 Sem e ?

1. U TG P @A 3 fe

2 ¥E H "R A % T
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4. fafeET =1 Sode 99H & fag

gl gl (chimney) -l ¢d 2 67

1. BHRAA Horofet Gl M

2 Rl Uss 12

g 2Rl el ISt Aer stz Hie

| JHRAA srUIES (U2S) el 42

What among the following would be the
ideal material for flooring of a steel
factory ?

1 Wood
2  Tiles

3 Granite
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Who was the architect of the LIC Building
in Connaught Place, New Delhi ?

1 Raj Rewal
2 Charles Correa

3 Louis Kahn

4' Zaha Hadid

ARGHET F 912
1. TS =T
2 e I

3, W

4, TR

www.FirstRanker.com



» FirstRanker.com

SR A Eifsrankel s SBOIEE 0. Pl FirstRanker com

stz (22uld) sl )

1. R

2 e slEuL

7 4o sl

4, »l ezl

Who was the architect of the glass pyramid
at the Louvre Paris ?

1 Frank Lloyd Wright
2 Walter Gropius
3. M. Pei

4 Charles Correa

F[ o U | T Rt F angEn 97
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il 2 e sifEuL

Who amongst the following is an
architect ?
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2 Sharmila Tagore
3' Louis Armstrong

4 Donald Trump

= § ¥ %9 UF IR 77
1. ISR
2. it iR
3, TEH AR
i WA
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4 SIS 23

Planning

A system of economic enterprise based on
market exchange is termed as :

1 Socialism

2 Communism

3 Capitalism

4 Feudalism
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1 Safdarjung Airport
% Juhu Aerodrome
3 Kolkata Airport

4 Madras Airport
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2 slesTil sld 28l

4 Ve &l 243l

Which of these does not hold true for the
following observation ?

Evidences of town planning principles in
Indus Valley Civilisation is demonstrated
through the discovery of the following :

Houses were connected directly to a
1 drainage system

Public transport wagons moved in
2 the cities

Great Bath that served the purpose
3 of community bathing

Some of the towns were laid out in a
4 grid pattern

= feoqof (observation) F fou 97 @ 3=
T 77
T =2t wea | TR FEmm fasi o e
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UZ A9 (Great Bath) o3 ArEa®
3. TE % 3}¥ H FE fwa)
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Alel UYL 2iedlsH qie 4 02 @)
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India ?

1 Right to Equality
9 Right to Education
3 Right to Freedom of Speech

4 Right to Property

qeTE Wiay™ F 9aR = § T F9 W uE
Hifers sf=r 78 72

1. S AT
2 Toen T sfuwr
3. A=A i T = AR
4. H9fH 1 ATIHH

Al 2utesizl 54 i sRdAL SRl Wl
YO %5 Aul?
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4 [lasd Al =iEs1z

Which of the following has the maximum
slope ?

1. 1:20

3 1415

4. 1:10

= | A forgat =rel sifean 272

1. 1328
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Azl 2Bl sl 2is HeEdH 2 5

1. 1:20

3 1:15

4, 1:10

Which of the following Ministers has never
held the portfolio of Urban Development ?

1 Hardeep Singh Puri

2 Venkaiah Naidu
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i Jairam Ramesh

fr= w5 4 foags o9 =l faam =
T4 (portfolio) i 21 =17

1. e fHE T
2, TR
3. EREIGEE)

. SETH WY

Al2L 2l s vai 283l [Hse A sl
(iesiler) suRa deued 2l

1. el Ry
LS SN

RS (G! 3¢l

www.FirstRanker.com



:l 3 ;irstRanker.cnm

irstranker's choice .
www.FirstRanker.com

Whalt is the full form of GPS?

1 Green Peace Society
Global Positioning System

2 £ )
Global Peace and Security

3 )

4 Global Position on Security

GPS =1 T A (full form) F1 &7

-I Green Peace Society
2 Global Positioning System
3 Global Peace and Security

4 Global Position on Security

www.FirstRanker.com
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1 . Green Peace Society
2 Global Positioning System
3 Global Peace and Security

4 Global Position on Security

When was the first United Nations
Conference on ‘Human Settlements
Habitat I held ?

1 1981

7 1976

3 1970

A 1971

‘T Yoy e 1 W ueen Uy e
e Fd ST T T o9 ?
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2 1976
3. 1970
4. 1971

A lecl-Al qusie T Gur uaw iy
A 2R Hlatdd €7

1. 1981

7 1976

3 1970

4, 1971

The headquarters of International Labour
Organisation (ILO) is located in which
city ?
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2 ) Vienna

3 Washington DC

4 Geneva

FHAEE 99 912 (ILO) 1 JEned T4 vet
Y fom g2

1, =A%

2. fagm

3 =T 21

2l A Al (TLO) o Yvat was =l
AL 2L 2l BRd 67

1,
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3 «iglleq DC

4. bl

Topographical map of an area is used to
understand :

1 Landform

2 Population Density
3 Economic Activity
4 Climate

LBzl %ﬂ%%ﬁﬁ‘?ﬂopogrﬂphizal}?ﬁl
=1 T A & feru IEn T < ¢ ?

1. Y-3TFfa

2 SHHEA T
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25 (e Al etlauglsy (Racglds)-sil 9
HHsredl M2 GualsL a4 87

1, et (o)
2 e-cllall21etl
3 ulls uylx

4], gL

With what amongst the given option is “The
White Revolution” in India associated ?
1 Rise in rice production

2 Cooperatives of milk producers

3 Cooperatives of paper mill workers

www.FirstRanker.com



:!%'Erma Moah Iﬁfﬁﬁgm

www.FirstRanker.com
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1 9Ed & IR H gfE
D T IR Bl Wkl it
3. U fae FwE=fE F5t gedn afafa
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2] HsnuEd 6
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Sustainable Development takes care of the
present and :

1 ' Community

2 ) Past

3 Population

4. Future

Td faTa =AM T € JdEE a9
Ty SEEER

2. WU

3 SHE H

4, W
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1. W
9 odsa

3l

4, sl

The Eastern coast of India is also known
as:

V O n

1 Bay of Bengal

2 Coromondal Coast
3 Konkan Coast

4 Bengal Coast

9T =1 Yl 92 59 AH H o S S @

1. ST i @t
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3 FiF T2
4. =M T2

oqiaAl Yl sist Alisisl 2is il saelldl
8.

1 el wigl

3 51501 sisl
4, veud sigl

Secondary sector economic activity is
related to :

1 Trade and commerce

2 Agriculture
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4 Tourism

IFGIREREE (Secondary sector) E BERIGIEIR
g T

1 =R UF 9=y

D, N
3 ST
4. WA

ol A ([gls 22) 2ulls w21 il
Hoilda & :

1. R 2 sl

9. M

3 B ED
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Which was the most polluted city in India
in 2018 as per Central Pollution Control
Board ?

1 Lucknow

2 Ahmedabad
3 Gurugram

4 Patna

FEE YUV fEA 912 & SR YR 9 2018
Y HaY AfYF qSfod et i 91 917

1, T

2 FEHIEE

3. TE

4, T
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1. avu
2 =HHEIMIE

3 PAM (Gurugram)

4 YAl

Find the correct match :

(P) Aligarh (I)  5ilk Sarees
(Q) Firozabad (II) Brass
product

(R) Kanjeevaram  (III) Bangles
(S) Moradabad (IV) Locks
1. ®)@), (Q)-(I), (R)-(IT), (S)-(IV)
2. P)HIV), (Q-I), (R)-(T), (S)-(IT)

3. (P}, (Q-(IV), (R)-(T), (S)-(I)

4, PR, @Q)-[0), (RHIV), (5)-(IT)

www:.FirstRanker.com



a » FirstRanker.com

q Igﬁﬁ{f?ker's choice www.FirstRanker.com www.FirstRanker.com
(P) TR ) T mfear
(Q) TR () iae = I
(R) =Ry () =fest
(S) HUEERE (IV) el

1. @)@, (Q)-(I), (R)-(I0), (S)-(IV)

2. (PR(IV), (Q-(I), (R)-(I), (S)-(0)

3. -1, (Q-(V), R)-), (5)-am

4. P)rUD, @Q)-0) (R}R(IV), 5)-(I)

il sAgl ziial ;

P bz M Bes adl
Q) [Brlzieus (M) B Gews
(R) slooay (T oioigldl

(S)  HREAE(HREWIE) (IV) dlou=i

1. @)D, (Q-(I), (R)-(II), (S)}-(TV)

2. (PRIV), (Q)-(Im), (R)~(D), (S)-(IT)

3. P)), (Q-(IV), (R)-(T), (S)-(I)
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Rainfall (in mm}

\

Jan Feb Mar .""I.]'JT M'rl}' Jun Ju|}-‘ J"\ugl f‘:'a*.]': Oct Nov Dec

The above graph depicts the average
monthly rainfall for a particular year in the
country XYZ. Select the incorrect option :

The driest months in the country are
1 December and January.

February-March have the same
average rainfall as October-
2' MNovember.

The country experiences the same
average monthly rainfall in the
3 months of May - June.

The wettest spell experienced by the
4 country is in the month of August.
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I S@iEs XYZ <9 § fadt ad s
A 991 1 5901 & | Teld faseq g

<91 H H9H g "o femrEt a9 sait
1. ®

A A 3§ a{gd o9l It &1 2, fee
2 FERE-ATE A |
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,/4 Sanitation
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10%

The above graph shows a municipality’s
expenditure on different services for the
financial year 2018-19. If the municipality
spent a total of Rs. 50 crore during this
period, the expenditure on ‘Education’
was:

Rs. 3 crores less than that spent on

1 ‘social security’.

Rs. 7 crores more than that spent on
2 ‘street lighting’

3 Es. 1 crore

4 Rs. 0.5 crore
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cnrmnercml on all floors. B, C and F are

residential on all floors. Find the
percentage of total floors that are
commercial and residential respectively :

2
1)1

Floors
[A[B|C[D|E|F|
Plots

[#%]
|—1mw¢=~|
l—l-h.‘l-m|-l‘-h|

[E—

1]

1 60% and 40%

2 40% and 60%

3 50% and 50%

i 10% and 90%

Etga 9@ @ A, B, C, D, E, F R Afrai
F11,2, 3,4 50 W &I J@UE A, DANE
=1 7 wfsel =ga@fas 1 B, C 941 F =i
[t il ErEE € | Fe dfae 1 9 gfave
T Hifore i1 foh S0 =i ag1 Aadg
€:

2
1)1

LIEG
[A[B[CIDIE|F|
YEs

Hmm.r--|
R

3
2
1

1]

www.FirstRanker.com

www.FirstRanker.com



Al X FifstRanker.com

www.FirstRanker.com www.FirstRanker.com

2 40% T=60%
7o 441 50%
3 50% 50%

10% 1 90%
4, 10%

g wlz A,B,C,D,E, FGuwz W 1, 2,3, 4
wigldul sulda . Wiz A, D @ E 6w 225
Yo =Mks 8. iz B,C A F Guz £35 wa
2dells O, cdiilzs 2 zdulisHl e s Wl
25zl 454 2L,

£
1|1

i
[A[B|C|D[E
e

Hmmﬂh|
l—iMm|m-|

3
2
1

1]

F]

1. 60% =1140%

3 40% 21 60%

3. 50% 1 50%
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Calculate the surface area of the solid
shown in the figure excluding the bottom
surface :

1. 1000.36

2 1223.60

3 1227.40

4 1323.60

=9 9 & (bottom) & I = BrSd gC
Tt { foan 2| #1 T2 a3 FeEie |
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2 1223.60

3 122740

4 1323.60

2Ll dledl 2wl cig s 2ugldul
oitidle {ul [z Al sweiddl sl

b
10 f},ﬁmﬁlﬂ

1. 1000.36
7 1223.60

3. 1227.40

v 1323.60
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Following table gives the number of
households and their corresponding
monthly incomes. Whatwill be the average
monthly income of the household ?

5l. No. No. of Monthly
Households Household
income (Rs)

1 300 20000
2 200 50000
3 150 100000
4 50 500000
1. 56000
9 67000
3. 70000
/. 80000
=1 9RO § 9iER 1 9= 99 996 94
Hifgs =A1F 2 T 71 9fEn w i Jifas
=™ 1 B 2
# 4, qftari =1 4. afram <1 urfies
A (%)
1 300 20000
) 200 50000
3 150 100000
4 50 500000
1. 56000

www.FirstRanker.com



:l » FirstRanker.com

lnFirstranker's choice

3. 70000

4. 80000

www.FirstRanker.com

Al2d siresul syl vl wid dudl Wl
dsuedd RS 2uas 2 8. udeiHl

Ha1eL Wy 2uas 2 o)

sH Aoz | aRidHl | gl ks
vy wis (30)
1 300 20000
2 200 50000
3 150 100000
4 50 500000
1. 56000
2 67000
3. 70000
/). 80000
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‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word ‘jatra’
means journey. While the original themes of
Jatra were largely religious, by the end of the
19th century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

Which of the following is indicated in the given
paragraph ?

‘Jatra’ refers to the journey of all folk-
1 theatre forms in Bengal

‘Jatra” was performed originally in
2 religious buildings only

‘Jatra’ is popular in parts of India and
3 Bangladesh

‘Jatra’ came into existence in the 19th

4 centur}f
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‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word ‘jatra’
means journey. While the original themes of
Jatra were largely religious, by the end of the
19th century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

Which of the following is indicated in the given
paragraph ?

‘Jatra” refers to the journey all folk-
1 theatre forms in Bengal

‘Jatra” was performed originally in
2 religious buildings only

3 gatra;aif.i p::ipu]a_r in parts of India and
] angladesh

‘Jatra” came into existence in the 19th
4 century
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‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word ‘jatra’
means journey. While the original themes of
Jatra were largely religious, by the end of the
19th century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

Which of the following is indicated in the given
paragraph ?

‘Jatra’ refers to the journey of all folk-
1 theatre forms in Bengal

‘Jatra” was performed originally in
2 religious buildings only

’galmt'lra; 1.; pol{}uia_r inparts of India and
3. glades

‘Jatra’ came into existence in the 19th
4 century
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‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word ‘jatra’
means journey. While the original themes of
‘jatra” were largely religious, by the end of the
19th century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

The passage attributes the continued popularity
of “jatra’ to.

1. the different social castes in Bengal
2 its flexibility in evolving its contents

3 its moral preachings

4 its beautiful folk music

Read the given passage and answer the
questions.

‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word ‘jatra’
means journey. While the original themes of
‘Jatra” were largely religious, by the end of the
19th century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

The passage attributes the continued popularity
of “jatra’ to.
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2 its flexibility in evolving its contents
3 its moral preachings

4 its beautiful folk music

Read the given passage and answer the
questions.

‘Jatra” is a musical folk theatre art form,
popular in Bengali speaking areas of the Indian
sub-continent including Bangladesh, West
Bengal, Orissa, Assam and Bihar. The word “jatra’
means journey. While the original themes of
]atra were largely religious, by the end of the
19th century, it began to include moral and later,
even secular themes. The survival of this folk art
form has been credited to its adaptability to
changing social contexts.

The passage attributes the continued popularity
of “jatra’ to.

1. the different social castes in Bengal

2 its flexibility in evolving its contents

3 its moral preachings
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Statement 1 :

Exposure to computer based learning is
common in most schools today.

Statement 11 :

Most jobs require at least basic computer
literacy.

Pick the correct option :

Statement 1 is the cause and
1 statement 11 is ils effect

Statement 11 is the cause and
2 statement 1 is its effect

Statements I and II are independent
3 effects

Statements 1 and Il are causes of some
4 common effect

CXENE

el ATaFHT Thell § P2l AT 926
=Rl HAETY {exposure}w%l

EREIE

Afersray il F fou F9 | F9 SRy
FT FERAT AT 2 |
ﬂfﬁﬁlﬁf’qﬂﬁ"{:
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4, ¥

(Aeiet 1 :

wler-AL il @ell 2uoni s3vger 2uafa
w0 1], DUAAREL (exposure) MM 8,
CRIERIE

2t Mol Al wionl «sl yued
5123 IERAL ¢33l ©.

(e 1 21 s1zeL 8 2 [Heud 11 =4 a-l
1. =2 B

[Hen 1124 sReL 8 =i [Ha 1A adl
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3. [Beudl 12 11 290 213l 8.
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In a survey of tourists in a city, 120 tourists
were women of which 35% stayed in the
city for more than one day. Which of the
following is the correct conclusion for this
data?

The majority of all tourists stay for
1 less than a day.

Average stay of women tourists is
2 approximately one day.

Approximately 35% of all tourists
3 stay for more than one day.

Approximately 35% of women
4 tourists stay for more than one day.

TF YIEL H TAIHI F UH JAH0 H, 120 THEH
Higed of T | 35 % et | Ush feq 9 s
e FAHS & fu R A A W
ool T €7

¥t s § wfuwis oF fo7 5 *+9
1. ==l
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3, a2t g
Afee THZH F F935% UF T g
4. Afe 2Tl B

wis 20Ul vhzsi-L @5 udeerl, 120 vaedl
Yl edl 5 sruizll 35% Azl 215 s3dl YU
(Eetat 2eedl el 2 wulEla wie A= =udarmizl
£ MR ARG S

izl LAl Ml 215 (B9 s2cl 21
1. ¢ ®.

Aleal uedlii UL A0 2R 215
2 Eaus.

ol o HelrilAlAL 202 35% @5 Sl
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In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using only
equilateral triangles. There is no restriction
to numbers, sizes, placement and directions
of these shapes. Color this composition so
that it becomes visually exciting,.

59 W9 % IW % fIU 9qE Wi T e #,
A FHGed AT 1 ST Fh 56 =H
F foru 3vgs U Wied 9= AR H A

el e vt Sl R
T HE WioEd 7E T 59 = @ T i
72 gfte 9 =9+ 2l = |

DAL WAL orlIed MR A ool 23U, 55
Moty FstelL Guelie 570, 21 dER 2L dHR
53 ol 2usRIHL dva, 58, dllssell i Bl
Y2 516 waleL A2l 2 2a-r 30 gl s el d
sl IS @Bl
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OR
Draw from imagination a beautiful
building,
OR
Draw from memory the face of one of your
parent.
TS § W T A I FeT s = |
G4l
T HeT ARG FHegAl | A &0
9
=fd ¥ &7 Aa-foa | 9 U = =8 =Hea
|

sl seuqiell 2lsEl 2l sl 2is il |
[ ot

oLl
Al seuEll @i e durdd Rt ol
2oLl

ddiEl uzelsazl aue Wd-RamsisE sie
25l U Bt euel.
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